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3 (Sem-5) PSY 1

2 0 16

PSYCHOLOGY

( General )

Paper : 5.1

(Introduction to Experimental Psychology )

Full Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Read the following statements carefully and
^  state whether True or False : 1x10=10

^5^ %n W (?T ^W5T
W :

(a) Experimental method is considered to be
the most scientific and objective method.

(b) Experiments can be conducted an3where
in natural settings to study of human
behaviour.

<]i[^ ^R<icoi 1^ c<plwi ^Rc.<i"i\s

A7/334 (Turnover)



( 2 )

(c) In an experiment,' the variables are
controlled and manipulated by the
subject.

linger

(d) Misperception or wrong perception by
our sehsoiy organs is known as illusion.

«?R<ICV© w ^

(e) Method of average error is an important
p^chophysical method.

a(3nt^*Rrt%i

W P^chophysics is the study of thought
processes of the mind.

"IttllllVl" aOpiR ̂spotpt I

(9) Wilhelm Wundt estebUshed the first
P^chological laboratoiy at University of
Leipzig, Germany.

A7/334
( Continued )

( 3 )

(h) The first p^chology- department of
India was established at Guwahati
University in 1916.

viWlR^H WPT.bdl?!'

(i) Experimental method is very systematic
and experiments can be repeated again
and again to verify the results.

2P(T®K

^R^ ̂  I

0) Statistical hjrpothesis is also known a
null hj^othesis.

^iR^trRi^ awi^ "^Rrs
I

2. Answer the following questions in 2 or 3 lines
each : 2x5=10

(a) Define experiment.

x5i€h^ Rrtr i

(b) Define independent variable.
^ 1

(c) Name any two psychophysical methods.

A7/334 ( Turn Over )



( 4 )

(d) What do you mean by DL in
p^chophysics?

(e) What is auditory acuity?

acuity 1% ?

3. Write short notes on any four of the
following : 5x4=20

V001VO c<plc*<l dIRSH "5^ (^1^ 1%^ :

(a) Weber's law

(b) Observation method

(c) Form perception

(d) Shifts and fluctuations in attention

(e) Volume and timbre

(f) Absolute threshold

A7/334 ( Continued )

( 5 )

4. Answer any four from the following questions:
10x4=40

"R biRi?H "Rn^iT:

(a) Discuss the nature and characteristics of
experimental method.

^iwMi

I

(b) Design an experiment to measure Muller-
.Lyer illusion in the laboratory.

I

(c) What are the basic assumptions of
Stevens' power law? Discuss.

Stevens' power law-^

(d) What are the characteristics of

perception? Describe £uiy two theories of
hearing.

(e) What do you mean by colour perception?
Explain the process of measuring

colour constancy with the help of an

experiment.

^cf/^ 1% ̂  cw-

"sir'K "^IPUT W I

A7/334 (T\jLm Over)



( 6 )

(ff Define attention. What are the major
factors affecting attention?

iPiCTsR cKsirar

(g) Citing an experiment, explain the merits
and demerite of the method of limits

watsr ̂ ar i . ^

W With the help of a neatly labelled diagram
of the human qre, explain its structure.

fgjR 5RPP5 ̂  ̂  ̂
I

★★★

A7—400/334
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3 (Sein-S) HIN L 1

2 0 16

HINDI

( Elective )

Paper : 5.1

( Hindi Sahitya Ka Itihas )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. ̂  : 1x10=10

(^) ^ '1^-WTcT o
w t?

(^) % IxUlchK ̂  t?

(t) ̂  ^ ̂ f ?

(^) t?

(^) ̂ cRlkRT % STRICT ̂  I?

(^) %?lcRRT S^Kl ^ •TIR %?

(^) WR ^ ̂ ̂  t?

A7/60 ( Turn Over )



2x5=10

t 2 )

{'sr) ^ ̂  ̂ ̂

(?t) 'd^-nm ̂ rai?;' ̂  ̂ %?

(^) '«blHI<)41' 1^ IRiR ̂  ̂n5!t t?

2. Rnfefea n# % 3# ̂  3g^ .

W  ̂ ̂  %tn)t I? ^ ̂  ^
m Rifem

(^) sritBtira % jft;, ^ ̂

(T) 3(|in#f ̂  jRn^ ̂  ̂  1^

(^) ttfirasra ̂  ̂ q,

(^).y^ ̂  ^ ̂ % TO
iCTliam

(^) TO-^ ai ̂  ii aara Stf^i
(^) ̂  ̂ ̂-m=n % aft ̂  i^,
(1) 'na^ftaaro' ai ftiaoft i^,
(a) ^Hcrto % ̂ftam ai aaro ̂ if^i
(®) ^ artaia: ̂  ̂

(^) ̂ laiai^ ̂  ̂ ^ ̂  aa

A7/60
( Continued )

( 3 )

4. a^nf^^iiB % Hm«h<ui ̂  "sraiRT ̂ if^l lo

3T«raT

^^iRchld ̂  <N41i^«h mR(^1^41 % ̂

5. ̂  3!R^ % ^ ^ 10

3T«raT

6. (lIclchl^H ^5I52r-y^Ri^1 % ̂  ̂
3T«raT

(ifclchlcrOH 'W-«^<adl«4l<{l <t>i«4'mM ^ 31^9 M'=«ni^
#rf^l

IMt ^ ilteftoROT ̂  % 4lM<iH ^ ̂  ̂
icTfe^l

★ ★★

10

10

A7—1000/60 3 (Sem-5) HIN L 1



3 (Sem-5) HIN L 2

2 0 16

HINDI

( Elective )

Paper : 5.2

( Hindi Bhasha Evam Devanagari Lipi )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. 1x10=10

(^) ̂ 3^ ^ W
%?

(^) ^ % wPicii ^
feT^RI

t?

(^) INt ̂  ̂  ^ t?

(^) smft t?

(^) ^ ̂ ̂  t?

(^) St^iRRT ^ S/*T^ ̂ 1

A7/143 (Turnover)



( 2 )

(^) ̂  ^ 1^ W t?

(^) IcPT ̂ ? ,

2. Pl^Rifea 3R^ % arf^ ̂  . 2x5=10
(^) ̂  ̂ % -Mf ̂  m

Icil^^l

(^) 'i^f 11^ % 3ra% sn^ qi^ft ^

W  ̂ l^TI t?
^ I?

(^)

(®) % anro 1%^ 5^ I,. ̂

3.

'" if ™"°

W ̂  1%t ̂  t? ^o %n=mt fern i.

A7/143

r Continued )

( 3 )

(^) % 3^% 311^ ^=5*? %

(^) ^ ^ 1^ 3RfjR % t? ̂ <\m

(^) '^l^' 3T«raT ^ ̂  l^ff^l

4. Pni^i^d ̂  ̂ 1^ ̂  31# % ̂  : 10x4=40

(^) H# *rmT % ̂3^ afk ^ ̂  wrf^
^ l^rferii

(^) ^ ^ ̂

(^) 1^ f ? ^ t
•f^il^i

(^) -Sf^ # ^ fl ̂  ̂ ̂

(^) 11# "^l^-vpiSR ̂  "51^ #1^1

(^) "Ris# # ̂  ̂  ̂ H# #
<iM4\Pldl ̂  1^ 31^ #f^l

(^) ̂ ^^IFltt 1^ % 'HIH«h<"l' 3ra5RT
^^iPlchdl 31^

(;5r) ^c^JiO 1^ % ^

★ ★ ★

A7—1000/143 3 (SemrS) HIN L 2
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3 (Sem-5) ASM L 1

20 16

ASSAMESE

( Elective )

• Paper : 5.1

( ( Asamij^a Kabita )

• 4 Full Marks : 80

Time : 3 hours

The figures in the margin indicate JuU marks
for the questions

:  ix^o=bo

('^f)

' (9f) 1^®!' ?

■ (^) "m ^pi%iT .>iiR!oh cm ̂  ̂ ̂

(<s) *^n<35 ai ft?

^ftoT caM ̂  ?

A7/54 (Turnover)
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( 4 )

'iw ^•t c^CTfc^ a^iffe

w I

W  ̂RvsilBvfi Nsn^

^IWIHl w I

^«(5n' %# ̂i%5lj^ ̂
CvsRH Pi«f<^ \»|<j|vs ^^l^twp?|| I

(1) l€te=iw ̂  'CTKTO# c^. 1^
^  'TOTRr ̂  I

"wim ̂  'si^ifeRm a^ ̂  ̂

'W^'7p%R,5n3Ws1^^l ^

^mr

^ 3% ̂  ffeg^

★★★

A7—8000/54
3(Sein-5)ASMLl

3 (Sem-5) ASM L 2

20 16

ASSAMESE

( Elective )

•  Paper : 5.2

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Vxio=^o

(^) .C^lti^SPirf
1%?

(^) HiiJi^M'SiH cw ?

(«) 'wr' c4HciJi w

(^) ''iw' hi'5"^hv6 ^M^nSk c5fOT^»i^ ̂
2f«n^ bl^<1>l4C«1 ̂ sppitsf ?

A7/55
fTYzm Ouer^



( 2 )

(^) C^7

(*^) *^'^n^' ^TlR^sRT#k ̂  1% ?

^1 ^X(i=^o

(^) ^ ^

(^) ^ *1^ 5Htft cm ̂5n%j .sn^
C^TC^^olf^fe?

W ViiD cTO^5nf^7

(8) <2nWH^^(SH^7l$|^^^
^ ̂RlVi ?

<tx8=^0

«i 1^ c^ncRT "Pii^ sng^ ^.

#HTO, WTO fB Is*,, ,

5',
A7/55

r Continued)

( 3 )

(5r) (?i ^flf^7.
■pT-^^ni?? ^ '®'hH

^WIW ?" ^ c^n?T,
sra ̂ R%i, 1^'

(^) ^
CTO,

(«) "crn^iSt ^ (?R5fe7 (?fe^ *rf
CSIH (OT I ^ ^

^  09(15# ^ ̂  I" ^
CW=(, 1% 2PR9(^ t^f^7

81 W ^51#^ ^spm c5n^-'^Rc<'*n 1^ 1%
W  ̂5(K5nw ̂  I

(^) '^l^R'St^* SPIHW^ 1^ 1^

41 (^) *5#^' 2WH ^ ̂Rad^ "^iRRi^

(^) ^(f6w >1K®{W
c^OTo^ aw ̂ ite^ ^ic^iiD^i ̂  I

bo

A7/55 (Turn Over)



( 4 )

^ I {^) "Rto \£lf^ ^IC®llbHI
^^TORTI io

W  ̂

^1

*\l (^) ^ ^i<®i^TM>R»-ggT
^Pl%Ri5|^ c^®l (R>(1HHC^

m(.®iii>^i I ^Q

(''f) ^ gR»Tj

★★★

A7—8000/55
3(Sem-5)ASMI/2

3 (Sem-5) BBN L 1

2 0 16

BENGALI

( Elective )

Paper : 5.1

Full Marks : 80

Time : 3 hours

The figures in the margin indicate JuU marks
for the questions

>1 ^sjf^ TS^ Tft^ : ^x^o = >o

W  >8—

(9f) TO ?

(^) "^*(>1^; c#r>1^; to
^srf^a#^ ?

{®) 'SRisnf'fe^ w I

(15) 1

(^ tpR*iwr i"
C^ ̂®t\<PlW5^ ̂ TR51®t ?

(^) W I

A7/137 ( Turn Over /



( 2 )

(^) ^51^ ',1515,^' inaiPwii

(vip) ">5nf^ ̂  ̂ ^if^pfiCT?! i"
■^®l1^ C^"^"?jf^7

^ I W : ^x<i=l>o

(^)

wt Rm'-i ̂  'spRTOra sipt (Pdt I
(t)

4X8=^0

(") wn? Wf «pf « ,pp^

i^) vfj^ ^*n5^«pT5 /Ttts /r»

A7/137
( Continued )

( 3 )

(^) ^C?IT ^ cwm l^l^ilCS^

<?RT l"

(«) ^C^HlPlPra^^ :

•nUii"

(^) KCH\9\9\ :
**0^ ^®ii c?j %i^

8 I 'TO, ^—TO 9t—'TO; al^ ^ ^5|^
2IC9?f I iox8=8o

^

W afl^ RT^RT- 0^ fl^IW a<R3FC5f
wn ^»TO ^ • (TT-^^Mi:#
^iwiiHi ̂ r;?[T I

{%) #© 1^ aro ^
^1^ af^n ̂ w®PR^wn^ai^ ̂ (RT i

(a) *RfRf aS^^cH?! ^a ft? acal af^a
^waa^ aRi< af^a^caa 1^ aiar a"^

A7/137 f Turn Over )



( 4 )

(t) ̂  ̂ ̂  a^7 aj55,^ g^
.  ̂  ̂nan%ra »|^

('F) 1^ ̂Hiw cm isiKsn^^ ̂  fe>fR?i«pR
-fl^'splWm^ ̂  ̂  ̂

•<PWI I

(t) 1^ ̂  %55 CT c^

(i) >ic*n^

*★★

A7—1500/137
3 (Sem-5) BEN h 1

3 (Sem-5) BEN L 2

2 0 16

BENGALI

( Elective )

( Upansras, Galpa Ebong Natak )

Paper : 5.2

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

M—^ CT c^pm R^i^r

2R;i?r ^ I

>1 ^5if^ ■^f^8 : ixio=io

(^) ^ ft ?
(^)
(^) ^
(^) TO55T (?^, m, ̂  ̂T3p^

c^?

(®) ilCT*f iRI^ ̂  «RK5f ?
(^) ^ l"

<PICTf» ^''iT ̂  ̂C<IC8^?

A7/138 ( Turn Over )



( 2 )

(T^) csi^ i?nc^ I" c^.

^5RSl*rf^C^?

^ I •HnRp'^ "sn^ ;' V ^ yf
^X4=^c^

W isiT? snisra (^5snjBra5i»if^ ̂
4^ w w»r w 6iw ̂Pp? feis^ 7

(t)- "^^WRiI%%(P5I3:S|racMS(?^|"
^ <3 7 ^ 7

(f) ̂  5^5 C^ <RRPS C^ 5f^ ̂  -^,„

^ ' C^ C"S»lC1I tjlyg . .
<tX8^^

W. "ftjrti® aw-'i^pi^ ̂ irri m afi. r-
5nf5)5f|" '" In tfe®

SThsfl^ 1^ ,

A7/138 .
( Continued j

( 3 )

^IWlHl

(^) *TOT' ^IWMI I

(«) "c^ c^imNShr i5i^te #?t

c^TT^^^hr i

W • '"Wm
<7f-i£i^ frt^aw I"

81 w:

^ox8=8o

(^) ^sn^rc^ a^l^TO, ̂ 51^
^i»RiT "sjc^ ^ i"

1^ I

^iwiHi I

{9r) sim-^mm wfto (?r fe

(^) ^^RTRTT 'W' ^
^tc«in>»|| -9^1 1

A7/138 ( Turn Over )



f 4 )

{«) a£1

^ CT ^C5f c?l—"

(^) ̂ ^'Pm ^

^ I

-.r ifeit csm ̂  ̂ ̂
I

W '^'^'Pm^SH5igp,^1fJ5R,,.|i^

%t5t

Tjf^ . ,

(^)

(f) '^♦rtks^isipp,^^^
(1) 'nPizsrajniaR,^^^

" "«»"-w™«,«,c
^ c^? ^

(^)

A7/138

^ Continued

( 5 )

(^ 2p# cspi csirS^ w o'n^c^?
(w) ^ ̂  ?

W ^lTO(?w?f?T^|pm(Sj55nte
(«£J3) ^TRTS^ ?

^1 ^x<i=^o

(^) **^oIC51T ^ ^rl^CSiX -^igsT
<P5l*^ l"

C^,

(^) #t (?rs^ ̂  ?
(5f) ^ofe^TOf^

(®) 2il% siR<iic5i c<ps!ii c^i^ "sj^j^nw R^®r ̂ c?r ?

o 1 CT C<Plc*il W(^ SIC3?r TO : <ix8=^o

(^) 'CIFRT^' dRv£i «i)c«iIi>*i1 *?c?il 1
(^) ^ CTOTO C^ ̂ ii5t^

051^ WT ̂  i"

tm w te^«r I

A7/138 ^ Ttim Over j



( 6 )

^r

W "^^1CH51 Sf'^ ̂  ̂ ̂8 1^

I

W "«(f^ ̂  ̂1 ^5n»5< ̂

2TO ^ ^I^fijsi I

81 af^«^c<!i(:^^B^csnfe8Rii6ai2R,^,n^.

(^) '11^'iraaJiTOi
I

^0X8=8^'

^l<l«11bHl

'ra,'5R5ra!?i^Tii«i

(1) *w %,. „ .ipp^ ̂  ̂

A7/138

( Continued

( 7 )

Tjf •

(«) '^pf^' I

(^) *CTO1^' ̂  ̂̂̂ersftH ^jR^ R^ii^ "Q
R^®t w I

(^ 1W<P5l(.®l^
R&W *pc<^i I

R^5i^®t ̂ c?n I

^x^o=^o

«t—1^«t

> 1 ^5rf^ ̂ nRP'^ W :

(^)

('^r) wn^ ̂  #t ?

(*n) cswfc^ cw."55^ ̂  ̂ ̂ rc<iR®i ?
(^) ^ ̂

9iHi^ c^ cmc^i

(<S) "lIlH "QftcH I Cf C9C^
»ITO"

C^?

(^)

(^ ^«iRR^i ^ ?

(^) *^5?lH 1^ CT01^ "^1^ ^ i"
c^?

A7/138 (Turnover)



( 8 )

(^) ̂  ^ t5i^ to ?nf%

^ I TffvS .
^X<^=bO

(''f)

(1) ''w' 'iik^ TO ̂
tc^toR?

(®) "'^'p''W5n5iTO!ff^7iiin i»

(^) -nfe^ torRs i^» -KCHr

("f) "<?r ^sim ^
^sirr c^ I"

^  ca^-1^ ̂

^ Continued )

A7/138

( ̂  )

(^) 'c^ ^i^vfiD ^BfiMM
^^FC?IT I

(«) **^11^ ̂  «nf% ^ 1^ I
ws^ ^*51?:^ i"

?lf^j?R (iRi^ "SISC^ I

(15) 'C^ W' Dl^«fjlu5j ^lt«11Dll
I

8 1 ai^ csrfe'R^ :
^0X8=80

(^) ^ *nf^ <1W<1R WITo <pI^illCR
■^, to >i^(:*R ^ ^®t

1"

RoR *PC5ll I

(''T) '^'Wrh' ^5i^jT?(c®f ''sii^'iRi'-R isto-
t#i?;§Rato w I

(^) fci^ ̂ito toRR 'Tfiwr'-^ii to^
"TOT I

(^) *>il«?l^H' HllBd^il
fto ̂5nd®nw^$d?iT I

A7/138 ( Turn Over )



(  10 )

"t—

^ I

W 'c^ 'sm' ̂Ii6m ̂ am ̂  ̂ ^tferroaa
^IWIHT I

N 'cji W 5qf8^
>^1% 1^ »i%, ;n« I

(W) ^ '■im IIP, ^ ̂
CWrXSlefl^ -S^^ |»»

C5CTI '

★ ★★

A7—1500/138
3 (Sem-5) BEN L 2

3 (Sem-5) PSC 1

2 0 16

POLITICAL SCIENCE

( General )

Paper : 5.1

Full Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questicns

Answer either in English or in Assamese

1x10=10
1. Answer the following as directed^.

1551^ ^ ̂ =

(a) Who is regarded as the father of Public
Administration?

C^n^-SP'tPR^ 1^ "Spic®! "W ?

(b) Who coined the word 'POSDCORB'?
'POSDCORB' ?

(c) Elton Mayo is associated with
(i) Human Relations Movement
(ii) Scientific Management Theory
(Ui) Bureaucratic Theory

( Choose the correct one )

A7/331
(Turn Over)



( 2 )

C5|^

(i)

(U) t«S^lPl<p ̂ Ro|crj^ v5^

(Hi) ^sn^WoTfl^ ̂

(d) -me word 'Administraaon' has been
derived from which Utin words?
'ajH' CWi^ »W ̂

"sa^ ft ' Write True or False )

{  <?T fwpiT )

(f) "By organisation we mean a t A
^stem of "lean a planned
«5i-af ^°operative effort" Thisstatement was made by
fi) Simon
(ii) Gaus

M Luther GuUcij

( Choose the correct one )

( 3 )

5REqif?f3i^ atsiR "SiSi
2f«n^ •"

(i)

(ii) C^tt^

(Hi)

( )

(g) Who edited the book, Toward a New
Public Administration?

Toward a New Public Administration "TO

af^ cw?\ -"pRRi ?

pi) The integral view of Public
Administration was supported by

(i) Dimock

(ii) Simon

(Hi) Thompson

( Choose the correct one )

C®n^-2l*IFR^

(i) ^

pi)

(Hi)

A7/331 (Turn Over)



(i)

I 4 )

"PubUc Administration is the art and
science of management as applied to the
affairs of State." This statement was
made by

(i) Waldo

(n) L. D. White

(iii) Gulick

( Choose the correct one )

(i) ,

(ii)

(Hi)

(i) Whose namp ,•«
mc.r.u- associated with the
machme model theory?

2. Answer the foUowin
S

v55[^
 questions : 2x5=1^/

(a) Mention two factoro u-
the growth of Public^H^^ contribute tohe Administration

A7/331

( Continu^'d)

( 5 )

(b) Mention two hindrances to delegation.

(c) What is New Public Administration?

c®n^-2pTPR 1% ?

(d) Mention the views. regarding the nature
of Public Administration.

(?n^-2i*nw sfffe TO ^
f^i

(e) What is good governance?

^-2PTOt%?

3. Write short notes on any four of the
following : 5x4=20

"R (?TOT blfiUH ^ 1^ :

(a) Importance of Public Administration

(b) Line Agency

(c) Scientific Management Theory

(d) Public Corporations

A7/331 ( Turn Over)



( 6 )

{e) Formal Organisation

i!) Role of CivU Society in Administrati
on

4. Answer any/ourof the foUowing questions :
10x4=40

la) Define Public Administration. Discuss
scope

its

fw, ̂

State the main points of simil ■
dissimilarity between PubUn
tration and Private Administration "

bureaucratic theoiy Of Max

id] Explain the principles of ■
and decentralisation. ^lisation

A7/331
( Continued)

( V )

(e) What do you mean by department? What
are its different types? Discuss.

1% ^ ?

(f) What do you understand by the principle
of span of control? Explain the factors
responsible for the existence of
differences in span of control.

(g) Discuss the role of the Chief Executive as
the General Manager of State.

(h) Distinguish between formal and informal
organisation.

I

(i) What is meant by Auxiliary Agency?
Discuss its functions.

^Ptcei 1%

★ ★ ★
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3 (Sem-5) MAT 1

2 0rl6

MATHEMATICS

( Greneral )

Paper: 5.1

(Statics an4 D3mamics)

Full Marks: 80

Time: 3 hours

The figures in the margin indicate juU marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

(a) What is the whole effect of a couple

acting on a body?

(b) What is the position of the point of
action of the resultant of two equal like

parallel forces actrng-Dn a rigid body?

*p^i R*^"^ 1% ?

A7i^9 ( Turn Over )



"TJ' A Vj
..a", i

(c)

''■i

A7/fi9

P. i 2 )

A system of£hc%jfiiar forces acting on
a rigid body arc such that the algebraic
sum °f.!^eir^^^omett^, about each of
any three non-cbUinear points in their
plane are separately: zero. Will the
system of forces be in equiUbrium?

■jra|§-

rod? a unifon^i

-Oi.c-'

-}•(e) Write the de&dtion>of
e of frictihW'

W Write' downV,^ .. '
radial and cross-rL f^^'^^^sions f"'

>  . a particle movin«T^ ®^<i^lerations "

C^, ̂

(cross. ^ ''■' ^radial)

(9)

(h)

(i>

W

A7/69

( 3 )

If the velocities of the particles P and Q
be u and v in directions matog angles
a and p with the jc-axis, write down the
relative velocity of P, with respect to Q.

P  0 ^ ^ ^
x-'^s^ TSFW a ^ ,p Q

P"^ ,^5n(^?iPp<p I

A particle is moving in a plane curve.
Write down the relatidn between its
angular velocity and linear velocity.

(M^ "sn^
■pRi I

:  -r. \ij ■■ ■ ; ^ : • i
If u be the velocity of projection and a be
the angle of projection of a particle,
write down the expression for the time
of flight.

•  -r — ■ j , u;\

State the principle of conservation of
linear momentum.

( Turn Over )



(* i

2. Answer the foUowiiig questions ; 2x5=li

A7/69

^omen are carrying a straight uniform
ar 6 metres long and weighing 30 kg.
One man supports it at a distance of

metre from one end, and the other
at a distance of 2 inetres from the

other end. VSihat weight does each
manibear?

■'JIV

yt^^3Q..kg 6 ^

"" „g..

fc; Prove that the CG of a boH, •

distance from a fixedFind its accele^S

(Contif^^^

(e)

( 5 I

=6a(xsinx+cosx)

WRiWs ^ X
^  I W

I

Prove that the .impulse of a force is
equ^ to the change in momentum due
to the application of the force.
2pn«[ w ^

3. Answer the following questions 5x4=20

(a) Prove that any system of coplanar forces
acting on a ngid body can ultimately be
reduced either to a single force or to
a single couple unless the system is in
equilibrium. .

^  W$n%T 2r«i#

^nR ^Ri 2RT®r <jRcr

Prove that if three coplanar forces acting
upon a rigid body keep it in equilibrium,
they must meet at a point or be parallel.

A7/69 (Tum.Over)



(b)

(cj

'K'

( 6 )

^nsrsfSRi ̂  ̂ ̂ ̂
iisiiOTs ^ p, ̂  1^;!^
•flSt 1^ p stl^ isn^ -jsji I

A i^orm ladder rests in limiting
^lUbnuin with-one end on a rough
floor, whose ' 'coeffieieit ' o'f' friction
IS with the other f^nvi •
o ow. againsta smooth vertical wdU, show that its
mclmation to the vertical is tan-i(2n).

•  . r '

SfpoSt ISHM).
" ̂ ̂ trai^t line
^^acosnt+bsinnt Pm

SHM and S •"
+b^ amphtude is

^ 'R«R lf^ _

W ̂ C<t X T,^' ̂

A7/69

(Con
0$

;( ^ 1

(d) A point moves in. p. cirple of radius r^with . :>
a speed v. Prove that its anguto velocity
about the centre is uniform and is equal

A7/69

to £.

-"r R*^c^i-z;^4pF©c^ ociii>«i
^ I 2RT«r ̂  ^?IR C^lf^

'.' ' ;.j7 I ' '

Or/^rf^ -

A particle is projected froiii a point O
so as to pass through two given points

.  in the same vertic^ plsme, with O,
at heights hi and h2 above O, and at
horizonti^ distances and dQ from O
on the same side. Show that the range

of projection is

-1 f ~ ̂2 ̂11
tan

d|^2 (^1 "^2)

O 1^ ^ ̂«IT SCT'f ̂
r-Ti ^ -•■ ^ •' c.'J :x.j ' :orirj. ' c .

^IC^s O ''PPSSR

o "R^ ^ hj ^siRs ^2 o R^
di d2 ^

R^ ^ w I (?rjQ^ (?J

tan'
7ifdi^h2-d?>i,2'^1

did2 (df - d2)

(Turnover)



( 8 )

4. Answer either (a) or (b) ;
(a) (b)'^ ^ :

(b)

A7/69

(i) Find the CG of the area of the
-2 ..2

ellipse = 1 lying in the first
b^

quadrant.

y'i

a2 b2

(ii) Find the CG of the sector of the
circle

quadrant.

+y^ =a^ Sim •5'^
^

that the CG of a triangular

41. equal mass placed
vertices.

at

'

v5T^(^

( 9 )

(U) The weights 1, 5, 3, 4, 2 and 6 kg
are placed respectively at the
angular points of a regular hexagon
in order. Prove that the centre of
the hexagon coincides with the
centre of gravity of the system.

(M^ 1, 5, 3,

4, 2 6 kg t£pR<?«ic<i W
£pn'=i ̂  c?i

tai-qc^a I

5. Answer either (a) or (b) :

(a) ^ :

Draw a neat diagram of the third
system of pulleys. If there are
n-pulleys of which the topmost one
is fixed and remaining (n-1) are

movable, then find the mechanical
advantage when the wei^ts of
the pulleys are neglected.

J
A7/69

£f«n^ ^1-^1 i

^ £i<=n%f&F5

\S)bfc)\si1 (n — 1)

■5^

^ i

f Turn Over}



(b)

A7/69

'"jr

r ^

( Ml)

(ii) A first system I of pulleys consists
of 4 movable pulleys each of weight
8  and tlie striiig^ passing round
the topmost^ pulley passes over
a fixed pulley. With what force must
a iri^ of weight-220 lb puU at the
freeriehd of thetrstring in order to
bailee himself suspended from
the lowest pulley?

8  ̂

^ ̂ ̂

i  ■ IT .

Define, jl^acWne ^ . .
a^tageVveiocity^S^ mechanical
of i inailrfne.%^ tSBdencf
ffiereitiiih- m^c^e, establish
Mechan^ttdady^t^^'^

X Efficiency)
4+6'

(Con

k

4

( 11 )

Answer either (a) or (b) :

(a) (b)'^ ^ :

/dj. (i) Obtain^, the , expressions for
tangential and normal components
of acceleration of a paihcle moving
aldhg a plaiie curve.

• . ■ •'' - ■

•*39p«l^ ^5f|^5fg4

(U) A particle moves in a straight line
with an acceleration -1^ directed

X

towards a fixed point on the line,
where p. is a constant and x is the
distance from the point. If it starts
from rest at a distance a from the
pohit, prove that it will be at

'  ' a distance ̂  from the point after
atiriie^:^. '

^  "4*^ |Jl ̂  ^ X

m  ̂ a
fRT SRI®!

^<1%5 I

A7/69
( Turn Over)



(b)

A7/69

(  12 )

(i) A person travels towards east at
the rate of 4" Ion per hour, and
observes that the wind seems to
blow directly frqm the north; he

doubles ms speed and the
wind appears to co;ne from the

. northreast. Determine the direction
^  and velocity of wind. 1

4 ^

^ ctn?! cniiTi »R, ̂
<?H ;ii(3 I C®8 CSfeii ̂  ̂
^ ̂ ^ OT

A p^arucle is moving' in a parabola
.^^.unifp^ apguiar velocity about

focus, prove fhc»+ •*. i
accelcKLtion

proportional to Z 'r
curv=h , ro the radius of
««vature,of its path at that point.

fit® >514 'Sll

(Cortdftti^

k

1

(  13 )

7. Answer either (a) or (b) :

(a)^^ •

(a) (i) A shot of mass m penetrates
a thickness S of a fixed plate of
mass M. Show that if the plate
is free to move, the thickness
penetrated by the shot is S / (1 +

WT S ̂  ^ ^

cm

1

(n) A sphere impinges directly on
an equal sphere which is at rest.
If the coefficient of restitution is e,

prove that a fraction, ̂  (1 - ) of the

original kinetic eher^ is lost due
to the impact.

C?IFK^ 2JvoJ^^5R3 I

e  ̂ (?l

A7/69
(Turn Over)



(b)

A7/69

(  14 )

(i). A shell of m^ss m is projected from
a gun of mass M by an explosion
which generates a kinetic energy E.
Show that, the velocity of recoil of
the gun is

2mE

Af(M+m)

^  ̂ 1R Tpsps B

2mE

^{M+rrij

ree balls of masses mi,
the last two

moving inme straight line wuu , . ®

strikes the second u
stipes the third
ofthe third haUafteXp^nr'""'

S.

/

(ContirtU^^

(  15 )

m2, mg ̂  cm ̂  ̂
Sf'Wto U >|^cqc<|-'q|v»IC.«nd^

'fpBrnr I

★ ★★
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20 16

MATHEMATICS

( General )

Paper: 5.2

( Numerical Methods and Spherical Astronomy )

Full Marks: SO

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

GROUP—A

(Numerical Methods)

1. Answer the following questions :

t55r5 feiT ^ •

(a) Establish the relation E = 1 + A.
£ = 1 + A ^ •

(b) What is meant by interpolation?

1x4=4

A7/70 (Turn Over)



( 2 )

(c) Mention oner adv^t^e of Lagrange's
interpolation formula.

I

(d) State Newton's backward interpolation
formula.

TbRR-f (backward) 'sisaTJI 131^
%sni ^

2. Answer the following questions
^551® %I ^ ̂ .

2x3'^'

(a) Evaluate :

(b) Prove that

^2 gOXH- b

(i+^a-A)=i I

from the !'

-1

-21

1

15

2

12

A7/70

( 3 I

3. (a) Evaluate : .-5

(b)

A7/70

A  . , A-sm(x+/^—sm(x + ̂  + 7—
E  " Esmix + hj

Or,/^sf^

Determine the function whose first

difference is 9x^ +1 Ix + 5.'
■  I •

9x^+llx + 5

State and prove Newton's formula for

forward interpolation. 5

^ t^T'd ^1^ SPlPt
w I

Or/WW

Applying Lagrange's formula, obtain the

value of /(9) using the following table :

^551^ ^ ^

X  : 5 7 11 13 17

f{x) : 150 392 1452 2366 5202

( Turn Over )



( 4 )

4. Answer either (a) or (b) of the following

(a) :

(a)

(b)

(i) Obtain cube root of 10 to 4 decimal
places using Newton-Raphson
method.

WtsflO ̂  ^>0^ I .

(n) Find a real root of the equation
-2x-5 = 0 correct to 3 decimal

places using bisection method.

<1W^H ̂  -2x-5 = 0
<sfet Rm ̂  3 ipij^ ^pi^si

I

Startingwithx = 0.21, solve
* = 0-21 sin (0-5 + *)

^sing iteration method.

^f®C^ x = 0.2l'^

'WlH^x = 0.21sin(0.5 + x).
Ptad the root of the equation

*=2^1° 7° ^places of decimal.

/i

J

1x6=6

( 5 )

GROUP—B

(Spherical Astronomy)

5. Answer the following questions as directed :

(a) Define secondary circle of a great circle

(b) Write one property of pole of a great
circle.

(c) state the cosine formula related to
a spherical trian^e.

CSfW (cosine)^

(d) The motion of the sun takes place along
a great circle called the .

(Fill in the blank)

A7/70
( Turn Over )



( 6 I

(e) What are the right ascension and
declination of a star situated at the first
point of aries?

R*^ (first point of aries)

(f) What is the latitude of the sun?

6. (a) In an equilateral spherical triangle ARC
prove that '

cos A =
1+cosa

^ C5IW abc^ ̂

C0SA=JE?E5L
1+cosa

(b) In a neat diagram, show the longitude
and latitude of a star. 2

^

7, (a) In a spherical triangle ABC, if h+c = tc,
then show that sin 2B + sin 2C = 0. ^

ABC^ ^ ib + c = 7t

.  sin2B+sin2C = 0.

A7/70 (Continued)

8.

( 7 )

Or/^^

In a spherical triangle ABC. prove thatcosacosc = sinacotb-smccrtB.

ASC (?m ̂  ^cosocosc = sin ocotb - sin ccotB.

.  Tf fhe rieht ascension of a star is equalfoStufe, show that longitude is equal

Q Qf"

-1 ̂  " 1 '

(o)

(bl

•  fhe angle which a star makes
with the

at sin<lisec8, where <t> bemg
observ ffVi#»star.

^^^eosl = sin4.sec8T'^^.^'^

Write short notes on :

and setting of stars
/vi Rising

(U, Circumpolsr star
^  ! Turn Over)

3+3=6

A7/70



( 8 )

(C) If Zj and Z2 are the zenith distances of
a circumpolar star at the upper and
lower transits which are on the same
side of the zenith, fmd the latitude of
the observer.

i£|^

^ ̂ 2l ̂  22 ^ ^51^

(dj If H and ,4 be the hour angle and
to prove

cosH=:-tan(j)tan5
C0Si4=sec(j)sin6

where (J» being latitude of the place and
SbemgdecUnation of the star.

<spn c^c, H isw

COSH = _tan(t) tan s
'^°®^ = sec(t)sin6

A7/70

( Continued)

( 9 )

9. (a) Define the foUowing terms :

(i) superior planet and inferior planet
^ja^-sn^isigsa^

(iij Perihelion and aphelion

(b)
,r ir-r's laws of planetary motion.State Kepi ^om

Deduce Kepier 3+3=6Newton's law of gravitation.

1

H V be the velocities of two
If ^ ieir orbits and ri, rg be'".^ distances from the sun,

\r Vo,-STS^ n ^
^  ̂ jpn^i « «

V2:Vi=it=V^'

{TamOver}

A7/70



(  10 )

10. Answer either (a) or (b) :
(a) WW (b)^ :

(a) (i) Define parallax. What is horizontal
parallax? 2+2=4

(ii) If S be the semi-vertical angle of
the tangent cone to the moon from
the earth's centre when the moon's
horizontal parallax is P and if S' p'
be another simUar part, prove that
the earth being supposed spherical
sinS; Sin S'= sinP; sinP'. 5

'RT fen

S', P' JIft ̂  iflfe
Cfwi, ^ ^ ̂

sin S: sin S' = sin P: sin P'.

A7/70

(b) (i) ^at IS meant by annual parallax
to annual

the si^ ̂  displaced towards
2+4=6

^  ̂ ̂ ̂
must a St

effect f situated so
greatest? ° ^nual narallax is

/ rnrttinucd I

( 11 )

The parallax of a star is 0-023".
Find its distance (1) in persecs and
(2) in light years.

,16, tmh w 0-023". ^5,rc5n 1?^
^-3,1 (1) 11^ (persecsjvs ^
(2) (lis'i' '

3 (Sem~5) MAT 2
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history
.,■-1

(' General)

Paper: 5.1
,  . - Tli-: '

Full Marks: 80
Time: 3 hours

to I word or in I sentence : I-IO-IO
1. Answer ml , . a

e Vasco da 'Gama?^

minted as the Nawab ofr^JS rEaat tadia company after



1 cm.
( 2 I

(c) When did the French establish their
first factory at Surat?
^  r) IT r

•riltlli'M C®at5jR^ gspf

(d) Who was the first Governor-General of
Bengal? i

(e) Who were Muhammad Reza Khan and
Sitab Rai? ,, . ^

<m cm

if) C^vemor-General who intro-
g^Pettntoent Settleipent of land in

Tfpj I

>"1 ̂

(g) By which Act thp t l-

earmarked a ̂  r^o^Pany
annuaUy toL^ of rupees one lac
education in India? development of

W In tvhieh vear ,

Anglo-Mysore War ta^t plaS
A7/14S .

( Continued )

i 9 )

(i) Who was the Governor-General of India
in 1857? n r "

(j) Who was Mangal Pandey?
■sjsfsf «nco ?

2. Answer in brief :
2x5«10

fnro items of trade fbr which In^a(a) Name Wo i
East India Company.

Ciive who were Ae
M After Robert the penodGovernors _

\a«« ^ 'f

(Turn Over)

A7/14S



(4)

W Mention two social reforms of Lord
William Bentinck.

^ I

(e) By which treaty was the Anglo-Nep^ War
brought to its end in 1816? Name the
Gwemor-General of Bengal during this

'  C«?C*1W®1 CTO ̂snflsf 7

3. Write the answer of any four of the foUowina
in short : _ .

C-VIC-il ;

(a) What was the poUtical condition of
Bengal on the eve of the BatUe of
Hassey?

'NSt ̂  ^sfiTj»R ^
T5|lf|5f ?

(b) ^at were the results of East India
Companys war with the RohiUas?
^ ^ _

5x4=20

A7/145

(5))

(c) What Wefe the ittportance
of Salbai. 1782? ■ " " '

e'> of Treaty

(Continued)

Writea^ort ̂ tenn W 'i^n of
Mysore. ^

' ' TO-«ath. Kn<l««-

fiHtl . .' ^ V' ■ ■■ ^

' a the finme(«ate cause of the
(f> ^1Ti8^7?Revolt of 18="^

'.r

. ̂  . .10x4=40

a  nv four of the foUowin? •4. Answer any ^

(a) Why is >®_J^battleS"^^®
as an iinpoiWH '

(Turnover)

^yi4s



{ 6 )

(b) What were the causes and results of the
Battle of Buxar, 1764?

(c) What were the causes of the downfall of
the Marathas?

(d) Discuss the judicial reforms of Lord
Cdmwallis.

^ ̂  estimate of the educationalreforms of Lord WilUam Bentinck.

ff) Was Lord Dalhousie responsible for the

« 1857?

iVSH ̂  ^ ̂ CSSRfeig

(q) Do you think that ti^** o

A7/145

( 7 )

Ih) Write short note on any one of the
following :

. X5SP5 fist ft ^ ̂
ftpn:

m The position of women in the soaeW
in late 18th century

c»n5Wi?f'PIW® ̂  ̂

Sati System

Tifli?Ra«n

(O) Haider AU of Mysore

★ ★★
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Paper: 5.2.
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Time: 3 hours

inihenrnrginrndicatefiiU'^The figures ^ ̂gstions

either

OPTION-—A

or sentence^ ̂  ̂  ̂  ̂  =

w "■»" 5 wS*^« _
>^8br ^ ̂,^^9



e'i • n,
( 2 )

(b) Who was John Knox?

^ ̂ OTT ?

/q/ Who was Zwingli?

(d) To which country did Ferdinand
Magellan belong? ^

^||^o{ 7

(e) Name a humanist writer of the
Renaissance period.

WR'R ISRR ̂  ^ ̂ I

W Who invented the printing machine?
^IPig 7

(g) What was Indulgence?
ItltllHia!' 1% vt||(^g[ 7

(N ̂ 0 was the Bourbon long in France on
® eve of the Revolution of 1789?

^PRfS 3FNR ^^1
<^'5n%7

( 3 )

(i) Who was NeckerPvig

0) in which year was the Batfle. of Waterloo
fought?luugi**-'

A7/146
(Continue'd)

Z. Answer the foUo^tog questions in brief : 2x5=10

la) Name two European arfsts of the
Renaissance period.

fSpni ■ "

Tv/Torrin Luther and to which

SntTdW ̂

^snl^?

f, neS^'f'^'^
Ttie social contract



( 4 )

(dj Name the two great personalities of the
French Revolution.

(ej What was the Continental System?

3. Write short notes on any four of the
following : 5x4=20

^  biRUn "5^ c&i^ :

(cl) John Calvin

(b) Counter-Reformation Movement

(c) Machiavelli

(d) Louis XV

(e) Voltaire

ff) The Pall of Bastille

A7/146
( Continue'dl

( 5 )

4. Answerany/aurofthefoUawrngquestions^^^^^^

^=m«tes of the Renaissance(a) What were the causes 01
in Europe?

the main " features of the

isnz5n6*n^'
the causes of the Thirty Years

SSwasitonly areUgiouswar?

the importance of the Treaty of
(d) Discuss theWestphalia.

jm the philosophers play mE^nfah^ut the revoluaon in France

/ TSim ni)t>r )



( 6 )

(f) Was the Bourbon monarchy responsible
outbreak of the Revolution of

1789 in France? Discuss.

(g) Discuss the reforms introduced by
Napoleon Bonaparte in France.

2FPre othISrr ^ ̂
"i^'siEsns'itw I

A7/146
(Continue^^

( 7 )

optiqn-^B

[ History of Enro^ (181«-1?4S) J
l>tl0=10

1. Answer the foUowing questions :
155R ^ •

(a) What was Holy AlUance?
\

,^r.#»<sc5or of Louis XVIII about

'^CmTwas said that he had learntS^gaLfhrpoUen-b^
ci csi

(c) Who was Adolphe Tluer

^ Who intnKluced the P0U<. of Blood and

(^)

xvas Unification of Italy
In which /•



( 8 )

(f) Where is Pearl H^bour situated?

(g) Who is known as the 'Puhrer?

c<PM<3r*{ <ij|^ ^ ̂  7

(h) Who was the last Tsar of Russia?

(i) By which treaty was the First World War
brought to its end?

OT'ifi ai3i
cwr?

World War

2. Answer the followina />„,
°wmg quesbons in brief • 2x5=10

of 1848. '-'cnch Revolution

ib-8lr "551^ 2F!^

^

A7/146

 ̂p?|T I
t

(Continued'

( # )

, frrro rtf thc niain obstacles to(b) Mention any two ottnemcux
Italian Unity.
^ ̂=14 ^ ft

(t^ Name two .for^stobUshirig

Revolution in France.

Ml What was ZoUverem?
'  ̂7

.  Places of Japan where

ZT^ «=■ ^

3

5x4=20

(a) Con^ 'v

(Turn Over)



{ W )

(b) Grimean War (1853-56)

(c) kulturkampf

(d) Foreign PoUcy of Napoleon III

(^) Nazism

(f) The Triple Entente

4. Answer any/o„rof the following questions:

°f July Revolutionof 18^1 •Of 1830 in, France?
^ 2jn^

1^^ ̂cpf^ ̂

W What do you
System-and whv^®.®" by -Mettemich
'/,Airrf^ !, "y Uld it failo
Syotem-and^°^j^y®Ofn by

A7/146

>4^ #5

(Continu^'

i 111

(c) Discuss the causes of the Austro-
Prussian War of 1866.

I

(d) Evaluate the foreign poUcy of Bismarck.

.  . fh^ service of Mazzini andcS to the cause of Italy's Unification.

»the causes of the World War I?if) What were the caus

.  , the causes of the Russian
(g) Discuss fU® g.y

3 (Sein-5) HIS 2 (A/B)
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3 (Sem-5) SOC 1

2 0 16

SOCIOLOGY

( General)

Paper: 5.1

(Sociology in 1°^^'

Pull Marks: 80

Time ■ 3 hovirs

-n. nauresinfhemorginindic^J^"^'^Thefigu ^ questions

^ustoerel^-^rtSn^lisHorinAssamese

and development of
1. Discuss the ^ special reference to

Indian

Or/^

10



( 2 )

2. Define social stxatification. Discuss the merits
and demerits of caste system in India. 3+7=10

I  vo|«qvD<|

^ CHHMH ^ I

Or/WW.

Discuss the various theories about the origin
of caste system in India.

^ ̂
10

3. What changes are taking nlace in India's
caste system? What is tL ^ India s
system in India? °

>,n=:

Or/^i^

Give a bnVf «

contemporary bKUa"^*^ village Ufa in
WIRS^ ̂Rira snmSfcr,

4. Define class. How far i •economic distinctionT i "
rigorous form of ® "^^ste just a more
ffl% ̂  %, V =lass? ■ 3+7»10

^ ai«tR >s»R®
9

A7/335

/ rnntin^^^ ̂

( 2 )

Or/'sm

Defme joint T+7=10

■wtW**"" J.IO-IO
5. Answer the '

r ajiY one emment(a) write the name of any
^ c^iiyn n-wi
ISpni^ ton any one feature of caste.
^  Hie author , of the ^k.

(c) Who IS ,^,auTe and Change?
Indian Soaal and Change
mdian sooaf^
^  factor responsible for the

fd) Mention one famifer m India.disintegra^n ^ ̂  %sn •
^ ̂ ottant function of reUgion.(e) State one^°^^,^ >i|Sl economic problem of

m Mention one -

A7/33S



( 4 )

(g) Mention one characteristic of Indian
villages.

(h) Write the name of the famous book
wri^n by M. N. Srinivas in 1962 on
India's caste ̂ stem.
<^0 vs^(^

fi) Write the name of any one dominant
caste m India.

W State any one type of kinship.

6. Write very short answer of the following :
2x5=10

(O) Wtet is meant 1^ endogamy?

(t) ̂ -twofeatu^,3„,j^.^.
System.

(<^ State two characterics+-

^ I

A7/335

( Continue d̂)

( 5 )

(df In what ways are tribes different from
caste groups? ^ ^

,,, DO you think that India's joint f^y acts
' ^ ° Locial insurance company?

7. Wn» .!.«« °' S.4^0

(a) Caste and Varna

fb) Middle Class
■s|snf^ e3^

Ic) Kinship

(d) High-<=®®^® Hindus
fe, Plain Tribesj^®^^
^ social institution

„d industrialization
Ti.hanization an"

-k**



3 (Sem-5) SOC 2

20 16

SOCIOLOGY

( General )

Paper *.-5.2

( Sociology in >

Full Marks

Time: 3 hours

quesftons

ylnsu'e'-either
or in Assamese

as directed : 1x10-10followmg

.  the author of the book, imtor
(a) ^ currentSoaology' current Sociology 3?^

Indian Soda^°^'

A7/336



( 2 )

(b) The book. The Dynamics of a Rural
Society was written by

^ Dynaimcs of a Rural Society

(9 Yogendra Singh

Irfan Habib

^ S. C. Dube

M Ramkrishna Mukheijee

(Choose the correct answer)

(c) In which

Constitution the right^
incorporated? equality is

(d) Which Indian Co
communal i^rt provided for
India? P^^sentative in Colonial

A7/336

(Continued)

( 3 )

(e) Mention any one contemporary source
of Indian Sociology.
^  ft C?ICT ̂  WIP#F

'

,f) The word Sanskiitization was used first
by M. N. Srinivas.

(Write Yes or No)

,  *PfC5T 2PR?1 M. N.*Sansknb2a^°^

Srf„,

K„me any one ecponent of integrated^gj Name
approach. ,

^  ft ^
fSl^l

•. one characteristic of caste system.M Wnte one en

. „ state of India, the Bac^
I" ''"'f Co^ssion was formed mClasses t.o""

:r« rsL'^

(TumOver)

^7/336



( 4 )

0) The changes in technology, institutions,
ideology and values of a non-westem
society occurred as a result of cultural
contract with, western society for a long
period." Who said this?

changes in technology,
institutions^ ideology and values of
a non-westem society occurred as
a result of cultural contract with

for a long period."

2. Answer the foUowing :
2x10=20

in Coto^l'ndia^'^ reformists

(c) Mention two d •
in India. ^nierits of caste system

A7/336

( Continue'■.dl

( 5 )

(d) Write two positive sides of Swadeshi
Movement in India.
,5,^ ̂ ^ ̂ '

fe, How does caste differ from tribes?

Write two important rights assured by
^ aie constitution of India to women.^ ̂  ^ ̂

g, N„.

ispni

„t two measures taken against
O'f suggest W ^

.  t^o external factors for(ij Mention nationahsm.

n. 1 is subalternism?(!) What IS e

(Turn Over)



(6 )

(a)

3. Write short notes on (any fow) ;

(ftc^ICTT5lR6t) :

Universal Sociology vs. Specific
Sociology in India

^

Caste System in Ancient India

P^hialization and Universalization
'I II /i\

5x4

(b)

(c)

=20

(d)

(e)

(f)

Role of the New Middle Classes

Social Background of TnHian
Nationalism Indian

Kqt Concepts of Social tst ■
^  Stratification

4. Answer any three of the foll„„ •
ofiowmg questions;

10x3=30

(a) Write a note on ider,i
m Indian Sociology. theory

A7/336

( Continued)

(c)

(f)

( 7 )

(b) CriticaUy evaluate the rese^ation
poUtics in Indian society and pohtics.
^ ̂ ̂

.iijij T ̂ K2ST I

What is secularism? Discuss about the
relevance of seculansm m contemporary
Indian society.Indian society.

Discuss briefly about ;he contemporary

' ' sources of Indian socie^- .

(e)
the concept of westernizationS'Serstanding the Process of social

cTP in modem India.

„ote on modernization of IndianWrite a "ol® t^^t of social change
tradition m the con

^  *31^ ®R=^

★ ★★

3 (Sem-5) SOC 2

A7—250/336



3 (Sem-5) PHL 1

2 0 16

PHILOSOPHY

( General)

Paper: 5.1

Full Marks: 80 ,

Time: 3hours

The figures ^ questions

,^.ereitheriuSn,ashorin.ssamese

the foUowing questions :1. Answer the lou

1x10=10

.. .,rv of truth which holds
,a) Name the tbe<>^ ^ relation beWeen^ ' that "tr^'^frSt in the real world .

fTumO



•' -r:. i 2 )

(b) Name one supporter of the coherence
theory of truth.

(C) How many categories of knowledg
there according to Kant? a are

^ iz®'BTO aw ̂

(d) State in one statf*m««*- 4.i_
.. ment the cardinal point

vovs 2POT

(e) What is the source
get the idea of causaU^?"®

1%?

(f) state one strong « •
of indeterminism ^ff^red in support

I

A7/193

(Continued)

( 3 )

(g) Name one logical positivist.

/•.I Itete the philosophical doctrine tmth
^ M the verifiabiUty theoiy of meanmg

is associated.

^ ̂
#pni

one drawback of logical(i) Mention one m
positivisiH'

Meme one existential phUosopher.01 Name 011*^

2x5=10

the following •2. Answer tn

.'s view of causahon.

(b) ^ I

(Turn Over)

fa 1193



( 4 )

(c) What is fataUsm? With which theory of
freedom of will fatalism is associated?

(d) State two features of existentialism.

(6) What are the

V rts

1% 1%

3. Give short answers (any four) ■.

(a) Distinguish between n
and conceptual space.
^®lT^ CIptf ^
^^1 H"#!

(b) Write a short n
view of substan ° ̂  rationalistic

5x4=20

A7/193 (Continued}

( 5 )

(c) Explain four forms of cause according to
Aristotle.

'snwiiw aw
^ I

,,, noes Kant beUeve that space and time
have transcendental reality? Explain.
^ ̂  ̂  ̂  'fa ^

_ ^wticisms against the theory of(e) State two criticisms 5
determinism.

recedes essence." Name the^ "Easten^ P associated withphilosophical m ^ ̂^lanation of

tVie coherence theory ofpxamme the cux
4. Explain and exam

(Turn Over)

A7/193



( 6 )

Or/^

Critically explain the correspondence theory
of truth.

^ ^
w m I

10

'■ tetledl 10
Or/7ff^

nte bneny about the nature of substance.

^ outline of the6.2-J;3indetemtlnis«.Give

Or/^rf^
What do you understana v
human will? Explain nature of
of the problem of Vn, ^ ®thical significance

"uman will.

lO

If
5>«in afi>5 ipus, ̂

A7/193
(Continti^'dl

( 7 )

7. Explain and examine pragmatic theory of
truth.

I

Or/^^
_ „ cnace and time a.s

write an essay oii Pcategories of knowledge.

★ ★★

3 (Sem-5) PHL 1

Ky^ie*ii9S



3 (Sem-5) PHL 2

20 16

philosophy

( General )

Paper: 5.2

(Indian philosophy-n)

Full Marks: 80

Tune3 hours
rnargin indicate juU marks

^ spires in the margi".^^The figures ^^^^^gsbons

"

(a) How many
phUosophy?

■'11''' ( Turn Over )
A7/144



m s ( 2 )

(b) 'Prama' mearii lidcnowledge.
^^ I

W Who is the founder of Vai§esika
philosophy?

C^9

Who is the author of'Yoga satra'?
ITH'JI j

(^) Samkhya philosophy beUeves in one / two
ultimate realities.

5»amkhya phUosophy.

fey What is the

objects in s-

A7/144
(Continued)

(( 2b )J

(h) Are Brahman and Atman; different in
jSaihkara's Advaita Ved^ta?

"  ■' ■ "■

(i) According to SadJcara. tke world is a
creation of j •

,,, mw>m^ ^ te 'Vop™""" »'

_  2x5=102. Give short answers: ,

ra 'mean by Svarthanum^a?(aj What do, you I '

t ■, Dravya or Subst?nce m Vatiesika
(b) Whatis D«*y

philosophy?

^  (Tum<>Ver)
A7/144



( 4 )

(c) Define Satkaryavada.
*

(d)m^t is caUed Cittavrtti in Yoga
philosophy?

(c) mat are the two functions of Maya in
Advaita Vedanta?

^ ISri ̂  fts 1% ?

5x4=20
3. Give answers (any four) ;

M Write a note «

iSesavat A " Si^avat Anumana,^avat Anumana and cs -
Anumana. Samanyatodrsta

^

A7/144
(Continued)

( 5 )

(b) Give a brief account of the Samkhya
concept of the pluraUty of Selves.

Ti4R ̂  ^

(c) Write a short note on Cittabhumi in Yoga
philosophy.

^  'TE# ̂  ̂ ^ '

(d) ExpIaintherelationbetweenBrahmanand
jiva in Saibkara's phflosophy.

4^ I

b«y

of Brahman.
_  . ̂  g- ^nffs «fl^ n

.  perception or Pratyaksa in Nyaya

I
^ V '•- ^1



(6)

What is Vyapti? Describe the Nyaya method of
establishing Vyapti. 2+8=10

^ ̂  ̂ aMr ̂
ml

5. WritethenamesofthesixBhavaPadarthasor
ategones of Vailesika philosophy. Explain
bnefly any two of them. 3+7=10

Or/^

Describe the va
VaiSesika phflosophy' jo

6. Describe in detau thg
Saihkhya phiio " Prakrti m

10

A7/144

''

( COTti^^d)

( 7 )

Ot/^

Explain Saiiikhya theory of Evolution.
Tf»M ^ '

7. Discuss Saihkara's doctrine of Maya.

Or/^r^

state Ramanuja's views regarding Maya.
"snwt

★★★

10

10

10

A7—16*/144
3 (Sem-5)P^^^^



3 (Sem-5) BCO 1

20'1® V

economics

( Gerier^ )
Paper: 5.1

(Public Fiiiancc)

FuUMarHs: 80
2^e:3hours

V, ffiP maram indicate JuU marks

.  . 1:1x1

1. Answer the

Z What is pubUc finance?

0=10

^ ̂ Imple of progressive tax.
C«~t

fc) Choose the c
blank:

is a/an
"Sales . rt tax
(direct/in^®®^' (sJai^/tCW) ̂  >

.. ..



( 2 )

(e) St^ whether the following statement
IS true or false :

?ncome tax' is a direct tax.
2p5j^ ̂  I

*^Ple of PubUc goods.

gove^nent

revenue." exceeds government
wai® ^

(9 Mention one source ef v..
<ife W revenue.G) Mention oTe „K

e3q)enditure. J®ctive of public

2. Answer the foUowino •
.  -""g- 2x5=1°

''Wget?

(b) Mention two demerit
21^ direct tax.

(C) Mention two charact^ '
tax. "^nstics of indirect

A7/329

(ConGrtt^^'d)

( 3 )

(d) What iSyfispaL.pplicy?

(e) Menti^p tv»p,; A£tfapteristics of pubUc
goods.

3. Answer any/our from to following : , 5x4=20

(a) Distinguish between putiUc goods and
^ Wi

-t- J f

note on the methods of

.  wectives of fiscal poUcy
/v.! What are the of^oou

the burden of external
fff Write a note on s^^^tsrai.

/ Turn Over}



( 4 )

4. Answer any four from the- foUowing : 10x4=40

(a) E^lain impact, incidence and shifting
of a tax.

^at are the factors which determine
taxable capacity?

(b)

(c)

(d)

(e)

(f)

(9)

fina^ <Mferences between publicpt^te finance.

SoDorto^f demerits ofproporbonal taxes.
^ .g«( ̂  ^ I

^Sturet.:rbon"^
canons of pubUc

characteristics of a

**★

A7—12*/329
lSam-51 BCO 1

3 (Sem-S) ECO 2

2 0 16

economics

( General )

Paper: 5.2

(inttodnctldii to Growth and
Developiii«»t Economics)

pull Marks : 80

3 hours

-r. r,auresiritbenu>r9inirumdeJUttnmr1^for the guesbons
^r..areitherinBn.ashoriaA3s.a.csc

, ehc foUo^B as directed : 1x10=101. Answer the I

, one disadvantage of per
(a) Mention any _ ^ indicator of

capita ."^jgyeiopfflent.
econonuc dev ^ ̂ w



i 2 )

(b) Gross domestic product is a perfect tool
of measuring ecbilbmic development.

(State TVue or False)

A7/330

(1^ (R f^)

economist to propound
the theory of balanced growth.

^  oapimst surplus.

of J f^'^loPtnent is the creation•  the economy.

(balance/imbalance)
(  ill in the blank by choosing

«0C^|

(■'^SR/'SpllSR)

11^

( 3 )

(f) Backwash effects have unfavourable
effects on economic expansion.

(State True or False)
•jpspiRi® f'51'^wPH iftnm a»R
I

_  intensive technique is used for
laree-scale indusbies.large scai (pui in the blank)(g)

(i)

(j)

.  „ industries "require lessStnaU-scale workers,
machineries Tnie or False)

apl ^'13^^asnaH ^
ai^ ac9i^ ^ ̂jpi^

■  i„g of capital intensive
Write the mearung ^
techh^- __^^l

(Continiiei•d)



2.

( 4 )

Answer the following : 2x5=10

(cl) State^ any two non-economic factors
that influence economic growth.

(b) Give the meaning of market-
imperfection in the context of
development.

(c) Mention any two

Underdeveiopmentofth:^:i;~

( 5 )

A7/330

(d) What are tho +«

model of^nlimited supply of labour?
'sn^SFs sra ta

(e) State two ha<!,v r
agriculture t„ contributions of
development of dSlf

5x4f20
3. Answer any four of fte foUowing :

xssfs fisiwrn c?ipn ^ ̂'
note on the availabilityrra^rtoiirces - a source of

economic ̂ owth.
ai#? ™

„, is quantitative and

«rc-.

•rat-? ^ "

the limimtiono(c) State the of economic
income as

isisN^,

ote on choice of technique.

(-) .
_ simdi-aoale "'lustiy

0 frffie die ̂  jgvelopmg

(Tf^^' (TurnOver)

A7/330



( 6 )

4. Answer any four of the following : 10x4=40

(a) E^lain the concept of Vicious circle
of poverty' as a factor innuencing

co^^l development of developing

Slii' i?""" Index?^lain Its acceptabiUty over other

^^1 ^ a^iisi5iM
(c) Explain the concent nf k i

•l"8 «th Itaitu^ J

(d)

A7/330

( 7 )

(e) Give a critical appraisal of Hirchman's
doctrine of unbalanced growth.

TS|J|#f3 ̂  tillWIMIHf

m  Is labour-intensive technique more
suitable in developing countnes? Give
reasons for your answer.

^qi C^7 OWl ̂  ^
(TfJSSIT I

(9)

(N

theory. - ̂  in Myrdal's

rB9fv««

•wbwb .^T'.r.'*^

(Continued) |A7-i2*/330
I

.1- v«#»rits and demerits of

developing economy.

the role of ^culture mdevelopment vdth special
economic

3 (Sem-5) ECO 2



3 (Sem-5) EDN 1

2 0 16

education

(General)

Paper : 5.1

( Emerging Issues and Education )
Full Marks : 80

jime • 5 hours

^  ̂ in the margin indUxite JuU marks

or iri AssamsssAnswer either m

1. Answer the
foUowing as directed :

1x10=10

... the District^W®^
(a) In which launched?

„ ofuniversalization of
fVip mcsnh^S(b) Give ® tion-

primaiy edu I
2lisrt^ fW ( Turn Over)

A7/63



( 2 )

(c) Write the full form of NLM.

NLM-^ I

(d) In which year was the National
Commission for Women set-up by the
Government of India?

^fwr?

(e) Write any one first generation human
nghts.

^ CflCT JP|5[ jfgjR ̂  ,5^ ̂  I

(f) Where and when w«<s . r
xxmrnAt^ ^ COnCept ofmen mpowerment introduced?

(g) FiU up the gap :

proclaime^b^ Women Year wasproclaimed by the UNO in the year

A7/63

( 3 )

Choose the correct answer :

According to 2011 Census of In^a &e
Uteracy rate of India is 74-04/o /
65-38%/ 52-21%.

<ts-o896 /

li, . Write one problem of universalisation of
primary education.

1^1

//I Who is
scheme?

the famer of Basic Education'

,^15^ ̂51? CW

,iving questions veor briefly
Answer the foUo

^ 1^ sra^ teristics of the National
(a) W"'®^^ission.

_jSwt

( Turn Over )

(
Continued)

A7/63



( 4 )

(b) Write about the importance of nutrition
on women's health.

j

(c) Mention two characteristics of Human
Rights.

(d) Write two barriers in the way of national
integration of our country.

^

(e) Mention two causes of students'
mdisciplme.

3. Write short note^i r^r,
r 11 • ® 2iny four of thefollowing : y J ur oi

^  ft m=n ^ ̂  ̂ ^
(a) Importance of vor.t.i.- i- • r

secondaiy educatior

( s )

(b) Concept of education for peace

fc) Causes of globalization

(d) Students' indiscipline

u. nf Children to Free and

S«#« *

4.«,..i.s«-=5'-rS'rS'°5

country- fW

ftpn
Or/"^ur/ '

tives

D.».- '■>
Governin®^ . people- ■ 1=1-^

^sn(?n^ ' I furn Over)
A7/63 ( Continned) A7/63



( 6 )

5. Discuss the existing prejudices against
women in our country and suggest measures
to remove them. 6+4=10

^ f >&iicg||bHi

Or / ̂smf

^at IS meant by women empowerment?
Discuss the role of education in empowering
women. 4+6=10

ftW ^ICo1lb41 ̂  I

Slot, nLSSr ^ - =,0

o*"/

Write the meaninc
international under<!ta«j' concept of
of education the role
understanding. P'"°moting intemationa^
«ll3sfiR>^ W'RR XBrf !nr» „

toi4i

10

( 7 )

D,e„e globalization. Mention the
impact of globalizauon in India. 5+5 10

jRsi

Or /

*.U^ aims and objectives of life skiU
i^ation? Discuss about the different

A7/63

3 {Sem-5) EDN 1

( Continued ) | A7—60*/63



3 (Sem-S) EDN 2

2 0 16

education

( General)

Paper : 5.2

Full Marks : 80

Time : 3 hours

iti fhe margin MUcate fuB. marks

..nsu-er either in

X.Answer/FiUupthehi^/WHtetrueorr..^^^

rfeath almost every Mp^
(a) 'Tr°®'''^aiiy life

of our daily oumerous forms.
measuremen

Who gave the ^ ̂

„e charactenstione

(b) Write any

m..^ ni)(>r )



( 2 ) ( ̂ )

(c) Who is the author of the book, Taxonomy
of Educational Objective?

(d) Mention any one tool for continuous
evaluation.

(e) A psychological test is essentially an
and standardized measure of a

sample of behaviour.

^ I

W The first step in constructing a test is to
the test.

It' ^ test is the degree towmch It measures, what it intended to
measure.

(N Range is one of the measures of central
tendency.

f Continued )

m Graphic presentation is. probably th?
simplest method of presenting statistical
data.

9^ 1

n obiectivityisthed^eetowhichequ^y

same result.

ep-r ^

2x5=10

2. Answer the foUowing^efly :

,a, What are the types of measurement?

V two educational objectives(b) Mentiott gg^janiin Bloom.

« WH» -



( 4 )

(e) Write two uses of statistics in education.

3. Answer any four of the following : 5x4=20

N0«1N0 1^ :

(a) What are the differences between
evaluation and measurement?

(b) What are the characteristics of a good
test? ^

(c) Write a note on standardized test.

^Si^M jgpu I

®  and mode fromuie lollowmg scores :

^  m 91^, 1I?|]5|T TSn^

25, 31, 31, 20, 30, 26, 32, 31, 35

(e) ^at is continuous evaluatioii? What are
Its ments?

fum 1% ? ̂  ^ ̂

of

(i S )/

m W: are the . advantages
objective-type test Item?

•  r>i)iabilitv of a test? Explain in brief

Or /

j „nu rmderstand by new trends in
o Discuss about the cumulativeevaluation? Discu" 3+7=10

.^acher-made test? Discuss its
S. What is a teachvarious WP ^ jr^r jp^K#

,_vrsrfT)*n ^
or/^

.v,e different steps of test

(Turnover)

A7/64 ( Continued ) j A7/64



( 6 )

6. What is histogram? Draw a histogram from
the following data : 2+8=10

'Stwsfe ft ? ̂  1w 'HI 'Siwsffel
^ :

CI f(Z}§

65-74
10

55-64
38

45-54
55

35-44
64

25-34
19

15-24
15

5-14
12

■W = 213

Or /

10

50-54
45-49

40-44
35-39
30-34
25-29
20-24
15-19
10-14

3

5

7

11

14

9

6

3

2

17 = 60

A7/64
(

Continued )

( 7 )

7 Calculate coefficient of correlation by using■ rank-difference method from the foUowing ^
table and interpret the result ; 8+2=10
^ 15H35I1 'Riftw ^

students^

Group -A.
Group B

4 B C D E F G H I J

SO 45 42 36 50 56 40 30 47 37

23 20 23 32 24 23 25 35 23 34

Or / WW

Calculate combined SD from the following
tabl<

vscH

table ' ^ ^
10

Isi Oroup
2nd Group

N

20

30

★ ★ *

M

75

65

SD

8

7

Lf>r

Digital

3 (Sem-5) EDN 2
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